[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
[
£0.06
0.05
0.04
0.03
0.02

.................................................

e

LAAN RALAN LML RALAE RN RARAN LLLN RRRR

0.0
o Of
= 3
T 11F 1
@ E
1:—0- RS e e JCEY - & e -+
0.9F - 0 O O [ PRRPRE:

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase
Efficiend —— poMm_CKF_TT retrainOldFiles125_v2_prelimWPM_epoch2

1.2

e et o s

efticiency vs vert z
T

YR S

e S S S

Ratio

20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1 - " " T T T T
= R SO T SO R

0.0.09 ; H R prety A e
S : : : : : :
R e A A
L R A SR S
P : : : : : :

e O A SR S
9] : : : : : :

TS UOS TN NS O RS e s o
@ S Lo oo :
e R | I R S | USRS
0.03 PR 1 08 O ST A R S
0.02 LS| B
0.0 H .....
o 0 NN TR R N
" L2 - I
o 5
1 -0§4> ...........
0% 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


